EXPONENTS AND LOGARITHMS
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Simplify : (3x)(4x)
Simplify: 3a%)?
Simplify : (-3np)(4n*p?)

2783k

Simplify -3abc

16x)2
24x2y

Simplify:
2
Simplify: (;)

Simplify:?/-&x6y3

Simplify and express with positive

exponents: 4x~2

Simplify and express with positive

exponents: -8y‘3

Simplify and express with positive

3
exponents: ——
43

Simplify and express with positive

3
exponents: ——
(20
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exponents:

¢
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Simplify and express with positive

2\"3
exponents: (_j;)

Simplify and express with positive
6 -3,2
a b

exponents: 3
3ab”

Simplify and express with positive
exponents: (-3x)2

Simplify and express with positive
exponents: (¢'2)

Simplify and express with positive
exponents: (2x3)2

Simplify and express with positive

(%)
exponents: 3

Simplify and express with positive

-3
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The value of(-64)i is

A) -16 0 512

1
B -— D) 16
)~ )
Find the val f(g_%
1n; ¢ value of (—— .

27

4 4
A) -2 o 2
) 5 )

9 2
B) - D) -=
)4 ) 3
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What is the value of 2x H ifx =87

A) 1 C)

B) 2 D)

Cogd ] e b

22)

23)

s

25)

26)

27)

28)
(]

¥

29)

U}
Pers
3
Evaluate: 16
1
A) 32 O -
) ) 7
B) 8 D) 1
32
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Evaluate: (—)
49
27 343
Ay — O =
) 343 ) 27
By 2 by 3
343 27
Which equation is equivalent to
y=10*?
A) y=107
1
B P A
) ¥ (10)
O y=-10"
1
D) y=(-_
) ¥ (10)"

J

Solve: (x+ 1)7 =64
A) 511 o 17
B) 21 D) 15

Iflogy x = %, what is the value

ofx?

A) 27 o s

27 3
B) =L D) =
) 3 ) 3

Iflog, 2= %, what is the value

ofx?

A) 2 C 8

B) 4 D) 2%
What is log, x = a written in
exponential form?

A) 39=x 0 & =x
B) o°=3 D) 3*=aqa

Which equation is equivalent to

\"&i“ y=3*?

A) logyx=3
B) logy3=x
C) logyy=x
D) logyx=y
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Find the value oflog, %

1
Find the value oflog1 .
116

Find the value oflogg 4.

Find the value of log,, é

Solve: log, T =.2
Solve: log, 27 :%
Solve: log, x=-3
Solve: logcx=-1
Solve: log4x:—1

2
Solve: log,,x= —%
Solve: log% x=-3
Solve: log, 3x+1)=2

Iflog(ﬁl) 27 =3, find the value

ofx.
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44)

45)

47)

48)

Iflogx%l: -1, find x.

The expression log 4x is

\‘,S\oﬁ‘\" equivalent to

A) 4logx
B) log x*

O (log 4)(log x) ey

LV

D) logd+logx

The expression log 12 is 6
equivalent to

A) log6+logé
B) log3-log4
C) log3-2log2
D) log3+2log2

Log @ is equivalent to

b
A) %loga+logb
B) %(loga-logb)
C) %loga-logb

D) %(log atlogb)

4
2
The expression log Y@ 5
%
equivalent to
A) %(4 log a-log b)
B) 4(log a* -log b)
) :11(2 log a - log b)
1loga
D) (%
) z—l(log b
The expression log a +% logbis
equivalent to
A) log-Jab
B) loga/b

C) log(a+b)
D) (log a)(% log b)
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52)

53)

54)

55)

The expression %Iog (a)-3log (&)
ol
is equivalent to
A) log g
3b°
B) log (a-b%)
Ya
3b
y

D) log va
b3

C) log

Which ofthe following equations
is equivalent to
xlog3+7log3=2log35?
A) 3T =352
B) 37%=32
C) 3x+21=10
D) (x+7°=25
Solve forx: log 81=4log x
A) 1 O 3
B) 9 D) 4
Solve for x:

log(x -3)=(log x - log 2)
A) @)
3+11

2

B)

C) 6
5

D) -

) 2

Solve forx: log, (x-3)+

log, (x+1)=5

A) 5,only
B) 7, only
O {75
D) {57
Solve forx: log(x-3)+
log(x +4)-logx=log 5
A) {26}
B) {"6>2}
O {26}
D) 6,only
Solve for x:
log (10-3x)-2logx =0
A) {-25}
B) 2, only
O S, only
D) {-52}




